1) Assume that wheat is sold domestically (in the United States) and in the international market.

a) Draw a correctly labeled graph of the domestic wheat market. On your graph, show the equilibrium price and quantity of wheat, Labeled PE and QE.

b) Assume the world price is somewhere below the domestic market equilibrium.

i) Sketch in the world price and label it PW.

ii) Label the domestic quantity supplied and the domestic quantity demanded QS and QD, respectively.

iii) Given the world price, will the United States import or export wheat? Explain.

iv) Using the labeling from your graph, indicate how much the United States will choose to import or export?

c) Shade the following regions in your graph given the world price and that the United States participates in free trade.

i) Consumer surplus

ii) Producer surplus

d) When the United States participates in free trade with the world economy, does the US economy operate more or less efficiently than when it doesn’t participate in free trade? Explain.
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2) The graph above illustrates the market for Converses in the United States. S denotes the domestic supply curve, D denotes the domestic demand curve, and PW denotes the world price for a pair of converses.
a) Identify the price and quantity sold if the United States does not engage in world trade.

b) Assume the US engages in free trade with the rest of the world at the world price. Will the United States produce the allocatively efficient quantity of goods? Explain.

c) How many pairs of converses will the United States choose to import or export?

d) Calculate the following
i) The domestic consumer surplus

(1) Without international trade

(2) With international trade

ii) The domestic producer surplus

(1) Without international trade

(2) With international trade

e) Does international trade increase or decrease the total amount surplus of the United States? Explain.
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3) The graph above illustrates the market for Pokeballs in the Kanto region. S denotes the domestic supply curve in Kanto, D denotes the domestic demand curve in Kanto, PW denotes the world price for a pokeball. PW+T denotes the world price after a tariff has been imposed.
a) Identify the price and quantity of pokeballs sold in the Kanto region.

b) Will the Kanto region need to import or export pokeballs when Kanto operates at the world price? If so, how many? Explain.

c) To disincentivize the consumption of foreign-made pokeballs, the government implemented a tariff on the importation of pokeballs. This tariff is denoted by the line PW+T.
i) Calculate the total consumer surplus before the tariff is implemented.

ii) Calculate the total producer surplus before the tariff is implemented.

iii) How much is the per-unit tariff?

iv) Will the tariff cause Kanto to import/export more or less pokeballs? Explain.
v) Calculate the total revenue raised from the tariff. Shade the region of the graph that represents the total tariff revenue.
vi) Calculate the total consumer surplus after the tariff is implemented.
vii) Calculate the total producer surplus after the tariff is implemented.
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